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n COMMON QUARTERLY EXAMINATION - 2022

Standard - XI Reg.No.

Time: 3.00 hrs. CH[EMISTRY ‘Marks: 70

PART - I

~ Note :i) Answer all the questions. iij) choose the most appropriate answer .

from the given four alternatives and write the option code and the
corresponding answer. 15x1=15"

. The correct thermodynamic conditions for the spontaneous reaction at all”

temperature is )

a) AH < 0and AS > 0 | b) AH < 0-and AS < 0

c)AH>0and S =0 : d) AH > 0 and AS > 0

If x is the fraction of PClc dissociated at equilibrium in the reactlon
PClg «PCl5 + Cl, then starting with 0.5 mole of PClg, t the total number of moles
of reactants and.products at equilibrium is

a) 0.5 -x b) x + 0.5 c) 2x + 0.5 v d) x+1
. The general formula for alkyne is ' '
a)CiHyn  D)CHyp .y~ L CHyn A CGiHy,
. Decreasing order of nucleophlllaty is ' 4 _
a) OH->NH,- > OCH; > RNH, b) NH, - > OH-.> -OCH3 > RNH,
¢) NH, - > CH;0 - >OH>RNH - ¢) CH30 -> NH,-> OH- > RNH,
. The outer most electromc conflguratlon of the most electronegatlve element is -
a) ns2 np - b) ns? np - -C) ns? np - . d)ns np
. Which of the following is not an endothermic reaction?
- a) combusion of methane . . .b) Decompostion of water.
c) Dehydrogenation of ethane orethylene d) Conversion of graphite to diamond .-
. Which of the following equilibrium, would be unaffected by an increase in pressure.
a) N2(g) + 3H2(g)_, 2NH3(9) b) N, 2(9) + 02( )= - 2NOy .
c) N,04(9) = 2NO, ~d) CO(q) + ‘/zoz(g)—; COz(g)
. 'In which of the following process is energy liberated g
a)Cl—» CI* + e b)HCl > HT + CI" ¢) Cl+e” —» CI’ d)02 50 + e

10.

11.

12.

13.

.. Assertion : Tertlary Carbocations are generally formed more easﬂy than primary

Carbocations ions.’
Reason : Hyper conjugation as well as inductive effect due to additonal aIkyI
group stabilize tertiary carbonium ions.
a) both assertion and reason are true and reason is the correct explanatlon of
assertion. ‘ : ,
b) both assertion and reason are true but reason is not the correct explanatlon
of assertion. X : :
c) Assertion is true but reason is false d) Both assertion and reason are flase
The value of the gas constant Ris
a) 0.082 dm3 atm b) 0.987 cal mol 2k’ 1 ¢y 8.3Imol’ 1k 1 4) 8erg mol™1 k1
Zeolite used to soften hardness of water is hydrated

a) Sodium aluminium silicate b) Calcium aluminium silicate

¢) Zinc aluminium borate - d) Lithium aluminium hydride

In the third period the first ionization. potential is of the order
a)yNa>Al>Mg>Si>P * -+ - b)Na3>Al<Mg<Si<P

c) Mg > Na> Si > P > Al d)Na<Al<Mg<S<P

The total number of orbitals associated with the prinicipal quantum number n = 3 is
a) 9 b) 8 c)5 d) 7
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14. The number of water molecules in a drop of water werghlng 0.018is
) 6.022x10%6  b)6.022 x102>  ©) 6.022x1020 . d) 9.9x1022
15. Compressibility factor for CO, at 400k and 71.0 bar is 0.8697.The molar volume
- of CO, under these condition is .
a) 22.04 dm3 b)) 2.24 x dm’ ) 0.41 dm?3 d) 19.5 dm3
: ' PART - I1 ‘
. Note : Answer any six questions. QueStIOn No.24 is compulsory: 6x2=12
16. Define : Equivalent mass.
17. How many radial nodes for 2s, 4p, 5d and 4f orbltals exh|b|t7
18. Define Le - Chatelier Braun principle. |
19. Define : lonic radius
20. What are isotopes? Write the ndmes of lsotopes of hydrogen
- 21. Define Grahams law of Diffusion.
22. Write short notes on Hyper cOn]ugatlon
~ 23. Define Clausis statement. ¥
24. Give the IUPAC names of the following compounds
1) CH3 - O - CH; i) CH, =CH-CH = CH,.
' PART - III -'
Note : Answer any six questions. Question No. 33 is compulsory: 6x3=18
25. List the characteristics of internal energy: -
26. Define Reaction Quotient 'Q'.
27. Explain the Clark's method of removing temporary hardness7 lee the equatlon.
28. Give the difference between Ideal and real gases.
- 29. Write a.note on homologous series.
30. Define Exchange energy : '
'31. Give the difference between electrophlles and nucleophlles
32. Define Diagonal relationship. o .
33. Calculate the empirical formula of a compound contalmng 76.6% carbon 6. 38% :
“hydrogen and rest oxygen

It

PART - Iv :
NOTE : Answer all the questions: ' 5x5 25
34.A) Compound on analysis gave Na = 14. 31%, S 9. 97%, H=6.22% and O = 69.5%.
Calculate the meolecular-formula of the: compound if.all the hydrogen in the
compound is present in combination with oxygen as water of crystalllzatlon

- (molecular mass of the compound is 322) - - (OR)
- (B) Write a note on (A) Aufbau principle (B) Hund's rule ~
35. (A) Explain the Pauling method of calculating Ionic radius. . (OR)

(B) i) Give the difference between Ortho and Para hydrogen.
ii) What is water - gas shift reaction? N

36. (A) Denve the values of critical costrants in.terms of Van der Waal's constants
(OR)

_ (B) Derlve the relation between AH and AU. -

37. (A) Derive the Kpand K for the followmg equilibrium reaction H2(g) + Iz(g)—;ZHI(g)

(OR) |

(B) Describe the classification of organic compounds based on their structure

" 38. (A) Explain a) inductive effect . ~ b) electromeric effect(OR)

B) Explain various types of constitutional isomerism (structural isomerism) in organic
compounds. : ,

------- S DKa |CPGA stant
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